s e (TR B A O A S5 5R)

TER29FE 9O 1BRE

K ok ok ok ok ok ok FAAD ok ok ok ok ok k k

TEREX4A Bt i =11 HH
1M 743 761 1,504 635
2%&/2 476 502 978 361
3 fit 470 515 985 415
4 B 123 142 265 110
5 {B1h 832 826 1,658 719
6 & 138 158 296 118
718 31 42 73 41
8 JdL#E/\fE 341 384 725 327
9 mRE/N\E 456 500 956 450

10 HEEH 369 433 802 363
1MEH 147 161 308 125
12 b/ 381 414 795 344
13 B3 291 325 616 262
14 7 984 1,099 2,083 911
15 fh 197 227 424 172
16 | 273 270 543 272
17 @it 131 148 279 111
18 LM 265 313 578 256
19 28 176 188 364 151
20 thiE 138 155 293 127
21 HHH 318 340 658 246
22 hARHE 221 236 457 193
23 kA E—TH 622 677 1,299 500
24 teA\E-TH 471 499 970 368
25 BAE=TH 616 726 1,342 529
26 A EETH 642 719 1,361 532
27 TARA—T 228 245 473 160
28 M/E (D) 7 20 27 23
29 #/E(I) 2 21 23 23
30 B 24 1 25 25
31 %E—TH 1 0 1 1
32 XEZTH 31 38 69 41
IBHXB=TH 0 0 0 0
4 XBMTH 697 756 1,453 593
Kl A== 380 414 794 307
36 EBATH 806 910 1,716 605
37 XB8+tTH 740 793 . 1533 614
38 XB/NTH 707 784 1,491 533
39 EBENATH 435 429 864 269
41 HEFE—TH , 756 692 1,448 652
51 ¥¥ES—TH 601 572 1,173 371
52 FEELS-TH 522 550 1,072 346
53 FER=TH 583 670 1,253 433
54 FESMTH 766 805 1,571 493
55 ELSRTH 555 570 1,125 331
56 FEES/NTH 0 0 0 0
57 ¥5ESLTTH 0 0 0 0
58 ¥BES/\TH 0 0 0 0
50 BESNALTH 0 0 0 0
60 BES—THN/* 150 181 331 128
61 FEE_-_THAVI R 103 111 214 82
62 7X-w=wia, 2—} 152 176 328 118

X & B X 18,098 19,498 37,596 14,786



